Whitman College

Econ 407 

Final Exam

December 11, 2006

Write all answers in your blue book.  Show all of your work.  

1. (10pts)  In  1990, when the annual inflation rate in the United States was about five percent, Rao Aiyagari (in “Deflating the Case for Zero Inflation”) argued that targeting a lower inflation rate would not reduce the costs of inflation uncertainty.  Explain his reasoning.

2. (10pts)   A friend has just heard that “when the price of a bond falls, its interest rate rises.”  Your friend does not understand how this relationship holds, and asks you for an explanation.

3.  (25pts)  Suppose you work as an economic consultant.  Your employer has noted that the current yield curve for U.S. government Treasury debt is inverted.  He wonders what the shape of the yield curve implies about market participants’ expectations of future interest rates.  Your boss therefore asks you to explain how to use the current yield curve to forecast nominal interest rates.  Write a memo in which you thoroughly respond to his request.

4. Consider the following model.  The banking industry holds one kind of deposit, a transactions deposit.  The money supply is defined to be currency in the hands of the public (C) plus deposits (D).  Assume that the public holds some currency and that banks hold some excess reserves (ER).  Let  rD be the required reserve ratio on deposits.

(a) (3pts)  Define the monetary base.

(b)  (3pts)  Define the monetary aggregate M1.

(c)  (4pts)  Define and derive the money multiplier.

(d)  (20pts)  During the period from 1931 to 1933, the Federal Reserve increased the monetary base by 20%, yet M1 shrank by 25%.   Explain what caused the money supply to shrink.

5.  Consider The Economics of Money, Banking and Financial Markets, by Frederic Mishkin.  On page 648 Mishkin describes the period of United States macroeconomic history from 1965-1973.  He states “policy-makers, economists, and politicians had become committed in the mid-1960’s to a target unemployment rate of 4%, the level of unemployment they thought was consistent with price stability.  In hindsight, most economists today agree that the natural rate of unemployment was substantially higher in this period, on the order of 5% to 6%.”  

(a)  (10pts)  Use the Keynesian stick-wage Aggregate-Demand Aggregate-Supply (AD-AS) model to describe the macroeconomic results of this policy over the period 1965-1973.  Refer to an AD-AS graph in your analysis.

On page 650, Mishkin continues his analysis through the 1970’s.  He states “after 1975, the unemployment was regularly above the natural rate of unemployment, yet inflation continued.  It appears that we have the phenomenon of a cost-push inflation.”  

(b)  (10pts)  Use the Keynesian sticky-wage AD-AS model to describe what caused this cost-push inflation.  Show the results of your analysis on an AD-As graph.  Use a separate graph from the one in part (a).  Be sure to define cost-push inflation in your answer.

On page 655, Mishkin states that “to wring inflation out of the system, the Federal Reserve under Paul Volcker put the economy through two back-to-back recessions in 1980 and 1981-82.”  

(c) (15pts)  What exactly did the Federal Reserve do under Volcker, why did they do it, and what were the results?   Explain, with reference to another Keynesian sticky-wage AD-AS graph.

6.  In 2004, Ed Prescott and Finn Kydland won a Nobel Prize, in part for demonstrating the time inconsistency problem of monetary policy.  The Economist magazine, in an October 16, 2004 article about Prescott and Kydland, summarized this problem in the following terms:  “Since the state has an incentive to favour inflationary policies--for instance, to cause a temporary boost in prosperity before an election--individuals should expect it to do so.”  

(a)  (20pts)  Use the Lucas island economy model to explain how a surprise amount of inflation can cause a “temporary boost in prosperity.”  In what sense does “prosperity” increase, and why is the increase only temporary?  Refer to an Aggregate Demand-Aggregate Supply graph in your explanation.  

(b)  (15pts)  Use the Barro model described in class to support the Economist’s statement that “A government’s inability to demonstrate sincerity in achieving low inflation can lead consumers to make high inflation a self-fulfilling prophecy.” 

The Economist goes on to conclude that Prescott and Kydland’s 

“insight resonated during the high-inflation 1970s.  It led to a shift in focus from the specific decisions of central bankers towards how to create credible institutions.  Central banks should, under this thinking, obey transparent rules rather than have discretion to create policy.  Increasingly, central banks around the world have been made independent of politicians, and inflation has abated.”  

(c)  (15pts)  Under the weak form of the fiscal theory of the price level, is a credible and independent central bank enough to achieve low inflation?  Explain your answer.

(d)  (15pts) Under the strong form of the fiscal theory of the price level, is a credible and independent central bank enough to achieve low inflation?  Explain your answer.

7.  (25pts)  What do you believe the Federal Open Market Committee will decide to do in its meeting tomorrow, December 12?  Explain the economic reasoning behind the actions you believe the Fed will take.  Use an economic model in your explanation.
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